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A QIMALS R AT
33 NGEHM 2483
Cel: 42N 243 A& (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OURXNEANNHA d2I2 7= - 2E(SIH
) 150,000
222 a2 = N (FHAEXE) 100,000 100,000
307 gl2to| & 100,000 100,000
02 QIZHEAAEE X 100,000 100,000
03222 &4 & A& 100,000
SN gdst X3 2,244,843 1,186,174 1,058,669
= 11,000
= 999,976
Al 1,233,867
HSAE &eld| =8 136,890 68,800 68,090
201 etz 3| 41,890 48,800 26,910
01 At 2|l 10,000 15,000 25,000
OXSAIE &)l =& 10,000
2 S52g4l 31,890 33,800 21,910
O&ESAIY &I =4 31,890
308 AHXIEMSOIH 20,000 20,000
18 SIS0t oA AS A 20,000 20,000
OESAIY &cJ| =4 20,000
401 AlZHIZ S 0HHI 75,000 75,000
01 A28l 75,000 75,000
OHSAE A= FXAl2e] 75,000
HEAZ 23t K2 (ZHIRERIR) 100,000 105,600 A5,600
307 212+01& 100,000 105,600 25,600
04 QIZHHAIAIH E X 100,000 105,600 25,600
OXSAE 2otAL X2 100,000
HEAIE ol F20I=20| 29 541,620 330,906 210,714
= 162,486
Al 379,134
307 el2tol & 541,620 330,906 210,714
= 162,486
Al 379,134
02 QIZtEHAEE X 541,620 330,906 210,714
OXSAE Al F2I|=0l 2& 541,620
s 162,486
Al 379,134
HEAZE AZMHUM KRS (2 EXR) 21,600 20,928 672
& 10,800
Al 10,800
307 elztol & 21,600 20,928 672
= 10,800
Al 10,800




SA: AR EHEN

ni;

33 NGEHM 2483
Rl ASAY 243 AR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 21,600 20,928 672
OXSAIE AIELIXN KI&AS 21,600
= 10,800
Al 10,800
SHSAIE S2Z0HE At (D EALY) 1,004,533 20,340 984,193
s 704,533
Al 300,000
401 AIEHIZ SR OHYI 1,004,533 20,340 984,193
< 704,533
Al 300,000
01 Al&HI 1,004,533 20,340 984,193
OXSAIE e A 1,004,533
S 704,533
Al 300,000
HEAE =xtetd HEAS 18,400 65,000 246,600
[ 11,000
Al 7,400
401 Al HIZ S OHbI 18,400 65,000 46,600
[ 11,000
Al 7,400
01 Al&HI 18,400 65,000 246,600
OHSAIE FXtetd HEA 18,400
= 11,000
Al 7,400
HEAE 3F Y 32 29 8,500 9,600 21,100
201 Ler23| 8,500 9,600 AT1,100
01 At2teltl 2,500 3,600 1,100
ONSAIE FH Y 2 =29 2,500
02 S3=gHl 6,000 6,000 0
ONSAE FH Y 2 28 3R= 4,000
OFH Y B2t =4 & |2 2,000
HEAE S HEH NFAS 19,500 19,000 500
= 8,357
Al 11,143
307 elztol & 19,500 19,000 500
= 8,357
Al 11,143
06 28= 19,500 19,000 500
ONSAE STHSH KIAAS 19,500
=S 8,357
Al 11,143
HSAME OINE 2 X 60,800 60,000 800




2A:

Sl At H E M1t

1

33 NGEHM 2483
Rl ASAY 243 AR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 20,800
Al 40,000

307 lztol & 60,800 0 60,800
= 20,800
Al 40,000

04 CIZHHAMAMH 2 & 60,800 0 60,800
OXSAE OFNE 29 K& 60,800
= 20,800
Al 40,000

HSAE SESANESHAG (2O EXY) 300,000 176,000 124,000
< 60,000
Al 240,000

308 XtXIEMSO0IH 300,000 176,000 124,000
& 60,000
Al 240,000

18 SIS0t & A AS A 300,000 176,000 124,000
OHSANE SEIFANTSHAE 300,000
= 60,000
Al 240,000

NEAIE &I[HE ZAl EXI EX(& 004 33,000 0 33,000
s 33,000

401 Al HIZL 201 33,000 0 33,000
= 33,000

01 Al&HI 33,000 0 33,000
OMSAIE HIIE ZAl X EX 33,000
< 33,000

NS =2tZ M & 8,681,000 12,686,000 24,005,000
= 1,201,000
Al 7,480,000

NSt & SSHEd 28 X2 8,681,000 12,686,000 4,005,000
= 1,201,000
Al 7,480,000

Neistl &2 & 28 8,281,000 12,286,000 /4,005,000
= 1,201,000
Al 7,080,000

201 fer= 3| 180,000 586,000 406,000

01 At 2|l 180,000 586,000 406,000
OTFAEZH 28l & 2F 180,000

301 2eEN= 8,101,000 11,700,000 A3,599,000
& 1,201,000
Al 6,900,000

14 IIEt2 8= 8,101,000 11,700,000 3,599,000
Of=AgMEH &2 2 23 8,101,000




A QIMALS R AT
ma: F|oiMaBAR A
chel: XIS 2 ST 2 N (cro: &g
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,201,000
Al 6,900,000
dEd SSHEN 2 400,000 400,000
306 £= 400,000 400,000
01 9= 400,000 400,000
OdTE S3HIEY =Y 400,000
AR HBM 243t 6,155,272 1,192,977 4,962,295
== 180,900
Al 1,174,372
H 4,800,000
ARl HBH 2dst 6,146,272 1,182,477 4,963,795
< 180,900
Al 1,165,372
H 4,800,000
ARIEZH 283 Xd 61,500 81,000 19,500
201 ger=3| 25,000 49,000 A\24,000
01 At 2|l 25,000 27,000 22,000
OAZIHZMAY &dst ASKE 25,000
203 =] 900 2,000 A1,100
03 A= H 2| 900 2,000 21,100
OMIRBMAIS 243 =2 900
301 EtE NS 5,600 5,600
11 dAMEBIXIZE S 5,600 5,600
OAtAX N A2 &dl 24 5,600
308 AtAIEHMSOIE 30,000 30,000
18 SIS0t HAS A 30,000 30,000
OAIHFMAME Edal 2SI 30,000
SFAl NGASEENEH 22 1,134,772 1,069,177 65,595
[ 30,900
Al 1,103,872
307 glztol & 1,104,772 1,039,177 65,59
= 30,900
Al 1,073,872
05 21t S 1,104,772 1,039,177 65,595
OHFAl NFASEHHUH 28 1,104,772
= 30,900
Al 1,073,872
401 AlZHIZ SO 30,000 30,000
01 A28l 30,000 30,000
OTFAl NGASEHELH Ald 2 30,000
Al MBI AM0tY S8 (ME235H4H) 150,000 0 150,000
& 150,000




SAf: SIMANEI R RID

33 ARIEBN gdat
=l ARIREH 24835 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 150,000 0 150,000
= 150,000
01 AlZ8| 150,000 0 150,000
OTFAl AT S0t g (dE23t
HIE) 150,000
< 150,000
H=Al ASIGO AM0tY Z&(SEE23HH) 2,800,000 0 2,800,000
H 2,800,000
401 AlZHIZ S 0HbI 2,800,000 0 2,800,000
2,800,000
01 Al&HI 2,800,000 0 2,800,000
OXFAl AR dd0te Zd(SE238
HIE) 2,800,000
H 2,800,000
Al MBI AM0tY & (S XRHH) 2,000,000 0 2,000,000
H 2,000,000
401 Al HIZ S OHHI 2,000,000 0 2,000,000
H 2,000,000
01 Al&H| 2,000,000 0 2,000,000
OTFA AEISIT AM0IY X8 (84BN
HIE) 2,000,000
H 2,000,000
S8R9 243t 9,000 10,500 21,500
SRS gda XdH 9,000 10,500 21,500
201 er23 | 3,000 4,500 21,500
01 At2teltl 3,000 4,500 1,500
o=3%9 243t A& 3,000
307 gl2to| & 6,000 6,000
02 QIZHEAAEE X 6,000 6,000
OBIRY =M DL NEEZX YA 6,000
MBI HB DI E 575,227 1,787,129 1,211,902
= 30,250
S 272,757
Al 272,220
ARl HBHES |4 575,227 1,787,129 1,211,902
= 30,250
=S 212,757
Al 272,220
0718 =4 20,000 30,000 10,000
[ 10,000
= 3,000
Al 7,000
307 gl2to| & 20,000 30,000 10,000




S QIMAREI R Bt
B2 ABIRZRIBRS

ol AlRIEERES |4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 10,000
=S 3,000
Al 7,000

02 QI AHANEER 20,000 30,000 10,000
oorE21g XE((0bl, &7, HXE, D& 20,000
[ 10,000
= 3,000
Al 7,000

Ot=01g NTstArg 35,000 50,000 /15,000
== 15,000
Al 20,000

307 212+01& 35,000 50,000 215,000
< 15,000
Al 20,000

02 2IHBHAIHE £ 35,000 50,000 15,000
o027 N3t 35,000
= 15,000
Al 20,000

021 AFRE KA 87,900 69,480 18,420
=S 26,400
Al 61,500

307 21201 & 87,900 69,480 18,420
< 26,400
Al 61,500

02 2B HAHE L 87,900 69,480 18,420
OitSJ1Y MR X2 A 87,900
= 26,400
Al 61,500

LN B EAL (AR D) 264,721 1,458,400 1,198,673
= 164,727
Al 100,000

307 @201 & 264,727 1,458,400 1,193,673
s 164,727
Al 100,000

02 LB MAHEE 264,727 1,458,400 21,193,673
OARIHIIY S4(2RFE, H2019) 264,727
[ 164,727
Al 100,000

ARIEZ RIS HESH A X (XS AE) 39,850 104,249 264,399
= 20,250
[ 5,880
Al 13,720

307 lztol & 39,850 104,249 64,399




S QIMAREI R Bt
B2 ABIRZRIBRS

SR ARIFBRHESN 'Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 20,250
=S 5,880
Al 13,720
02 QI AHANEER 39,850 104,249 A64,39
OAIHEM 4 ol XIJA 39,850
[ 20,250
= 5,880
Al 13,720
ABIEBHOIY FESHAD N (NAFREH) 76,750 0 76,750
== 36,750
Al 40,000
307 212+01& 76,750 0 76,750
< 36,750
Al 40,000
02 2IHBHAIHE £ 76,750 0 76,750
OAMSHZM FE AL X3 AL 76,750
= 36,750
Al 40,000
SIXGH 23 HE(RXIEH S3HAte) 51,000 70,000 19,000
=S 21,000
Al 30,000
307 21201 & 51,000 70,000 19,000
< 21,000
Al 30,000
02 2B HAHE L 51,000 70,000 19,000
OMIIHZH 23] N (KHXISH S3tAt
&) 51,000
= 21,000
Al 30,000
SH g4zt 439,700 618,700 /179,000
< 36,500
Al 403,200
slaits &4 113,000 214,000 101,000
OIESSH 243 AF(HEALY) 113,000 154,000 241,000
201 er23 | 10,000 10,000 0
01 At2teltl 10,000 4,000 6,000
Olt=s=H 243t & ?I8s 88 S 10,000
301 LEetE N = 3,000 4,000 21,000
11 #AIAHIXIZ S 3,000 4,000 21,000
OossH gdat 3,000
307 21201 & 100,000 140,000 40,000
02 LB AANHEE 100,000 140,000 240,000
OxFeFk Dt=SSH 243 Al 100,000




LA RIMASE 2R ot
33 NgssH gdat
ool ZEXN |4 (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSH =4 321,700 399,700 A78,000
= 35,000
Al 286,700
25U 3 SH 43 A (HEALY) 173,700 173,700 0
201 fer23| 23,700 22,500 1,200
01 AtR2t2|HI 8,700 22,500 213,800
O2Fd=sH 243 8,700
02 S3=gHl 5,000 0 5,000
OssH s7&2L 84 5,000
03 A2 I 10,000 0 10,000
O&=Al SSH 54 & &AL = 10,000
307 elztol & 150,000 161,200 21,200
02 2IZHBHAIAE & 150,000 151,200 1,200
O2Fd=3H A 150,000
HFAIZIEEH 2dat N3A 28,000 59,000 /31,000
201 er2 3| 25,000 54,000 A29,000
01 AtR2t2|HI 5,000 9,000 24,000
OHFAILEH B2 228 S 5,000
03 A2 I 20,000 45,000 /25,000
OXFAREE 243t 2 20,000
301 EtE NS 3,000 5,000 22,000
11 dAMEEIXIZE S 3,000 5,000 22,000
OXFAILIYEH 435t X2 3,000
2= l=d A FA 40,000 50,000 10,000
S 20,000
Al 20,000
307 @120l & 40,000 50,000 10,000
s 20,000
Al 20,000
02 LB AAHEE 40,000 50,000 10,000
OZ=U=& AL =M 40,000
[ 20,000
Al 20,000
H= SSHULL 243 At 20,000 20,000
307 elztol & 20,000 20,000
02 2B YAIHE X 20,000 20,000
O SSHULL 43 At 20,000
OIS SSHOICIol 283t At (HEALY) 60,000 30,000 30,000
s 15,000
Al 45,000
201 et 3| 10,000 10,000
01 At22t2l] 10,000 10,000




A QIMALS R AT
33 NgssH gdat
el SsSH =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
obtsssHItin =23 10,000
307 el2to| & 50,000 30,000 20,000
= 15,000
Al 35,000
02 QIZHEAAEE X 50,000 30,000 20,000
O&= UI=Z3SHMOITIO 283t AIE 50,000
== 15,000
Al 35,000
SZE0S SSHAMY 5,000 5,000 0
S 1,500
Al 3,500
MAMOFS ST AP (D1 EHA) 5,000 5,000 0
= 1,500
Al 3,500
307 el2to| & 5,000 5,000 0
= 1,500
Al 3,500
02 QItEHAEE X 5,000 5,000 0
OMMOISSI MHOIZ=EA) 5,000
== 1,500
Al 3,500
HY2HZHI (DAL HZ A D) 52,303 73,286 /20,983
J123HI(2HAE M B T2 52,303 73,286 A20,983
Jl=2ZHl (L EALS HZ M2 52,303 38,643 13,660
201 er=23y| 29,645 23,547 6,098
01 AtR2t2|HI 27,945 21,747 6,198
Odgt+=d| 14,904
O= gl 13,041
02 S5=24g4l 1,700 1,800 A100
0=32= # HAl 1,700
202 04l 18,878 12,09 6.782
01 =LHAHI 18,878 12,096 6,782
OJl2g =0 18,878
203 2=l 3,780 3,000 780
04 PAE2EERFAH 3,780 3,000 780
ORMEIE =
315,000& * 122 3,780




